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CONSTRUCTIONS

1. To divide a line segment in a given ratio.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OvgMuYsEic3U

2. To construct a triangle similar to a given

triangle as per given scale factor

o Watch Video Solution

3. To construct the tangents to a circle from a

point outside it.

o Watch Video Solution



https://dl.doubtnut.com/l/_OvgMuYsEic3U
https://dl.doubtnut.com/l/_qei5ua079Voh
https://dl.doubtnut.com/l/_RGGeZWDtucLe

1. Construct a triangle similar to a given

3
triangle ABC with its sides equal to 1 of the

corresponding sides of the triangle ABC (i.e., of

scale factor Z)'

o Watch Video Solution

2. Construct a triangle similar to a given

5
triangle ABC with its sides equal to 3 of the


https://dl.doubtnut.com/l/_Xsc3gPYgictg
https://dl.doubtnut.com/l/_qNIGOOxlIgPi

corresponding sides of the triangle ABC (i.e., of

scale factor E)'

° Watch Video Solution

1. Draw a line segment of length 7.6 cm and

divide it in the ratio 5 : 8. Measure the two

parts.

° Watch Video Solution



https://dl.doubtnut.com/l/_qNIGOOxlIgPi
https://dl.doubtnut.com/l/_9hrRGKHgApWB
https://dl.doubtnut.com/l/_OY1DYMh9l5AO

2. Construct a triangle of sides 4cm, 5cm and
6cm and then a triangle similar to it whose
sides are (2/3) of the corresponding sides of

it.

o Watch Video Solution

3. Construct a triangle with sides 5cm, 6cm
and 7cm and then another triangle whose
sides are 7/5 of the corresponding sides of

the first triangle.

| €8 l


https://dl.doubtnut.com/l/_OY1DYMh9l5AO
https://dl.doubtnut.com/l/_WEQcG6TJCYsA

L ' Watch Video Solution J

4. Construct an isosceles triangle whose base
is 8cm and altitude 4cm and then another
triangle whose sides are 3/2 times the

corresponding sides of the isosceles triangle.

o Watch Video Solution

5. Construct a AABC with sides BC =6 cm, AB

=5cm and ZABC = 60°. Then construct a


https://dl.doubtnut.com/l/_WEQcG6TJCYsA
https://dl.doubtnut.com/l/_577Wz06jG6vy
https://dl.doubtnut.com/l/_QdnsjseJAlfS

triangle whose sides are 1 of the

corresponding sides of AABC.

° Watch Video Solution

6. Draw a triangle ABC with side BC = 7cm
/B =45° , /A = 105° . Then construct a
triangle whose sides are (4/3) times the

corresponding sides of ABC'.

o Watch Video Solution



https://dl.doubtnut.com/l/_QdnsjseJAlfS
https://dl.doubtnut.com/l/_tVluNyg0dbWy

7. Draw a right triangle in which the sides
(other than hypotenuse) are of lengths 4 cm
and 3 cm. Then construct another triangle
whose sides are 3 times the corresponding

sides of the given triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_aufrna8o15iu

1. Draw a circle of radius 6cm. From a point
10cm away from its centre, construct the pair
of tangents to the circle and measure their

lengths.

o Watch Video Solution

2. Construct a tangent to a circle of radius 4
cm from a point on the concentric circle of
radius 6 cm and measure its length. Also verify

the measurement by actual calculation.

| & I


https://dl.doubtnut.com/l/_56HfySJY1Qrv
https://dl.doubtnut.com/l/_pkCbW2iqEwAn

| ¥ Watch Video Solution |

3. Draw a circle of radius 3 cm. Take two points
P and @) on one of its extended diameter each
at a distance of 7cm from its centre. Draw

tangents to the circle from these two points P

and Q.

o Watch Video Solution

4. about to only mathematics

o Watch Video Solution



https://dl.doubtnut.com/l/_pkCbW2iqEwAn
https://dl.doubtnut.com/l/_W8dWgZeCUYQx
https://dl.doubtnut.com/l/_PSYgmAnSHsCU

5. Draw a line segment AB of length 8cm.
Taking A as centre, draw a circle of radius 4
cm and taking B as centre, draw another circle
of radius 3 cm. Construct tangents to each

circle from the centre of the other circle.

o Watch Video Solution

6. Let ABC be a right triangle in which AB = 6

cm, BC = 8 cm and ZB = 90°. BD is the=


https://dl.doubtnut.com/l/_PSYgmAnSHsCU
https://dl.doubtnut.com/l/_Kl6U6FSe0XTx
https://dl.doubtnut.com/l/_TlnXKX3qaU7a

perpendicular from B on AC. The circle
through B, C, D is drawn. Construct the

tangents from A to this circle.

o Watch Video Solution

7.Draw a circle with the help of a bangle. Take
a point outside the circle. Construct the pair

of tangents from this point to the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_TlnXKX3qaU7a
https://dl.doubtnut.com/l/_TS9jgdndK4cv

